[l-ﬁ) 3(l -x-k)
(1-x=h)( l-;)_
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Using Function Notation:

When a function is represented algebraically, we are given the
rule as it applies to some variable. This is called functional
notation. To compute the rule applied to any input we simply
replace the variable with the input.

‘t{;\ /C;?Lll\ f(x) = 2 then
w of f(5) (5)2 =25
£ X7 j-n = (-1P=1
ok x o fla+d (a +b)% = a® + 2ab + b?
fRy) = (29)* =4
IMPORTANTI! [.” — 7

This does NOT mean
f'multiplied by x



e Given X+ 21, find A2).

()= (DTH( 3)~|

v Given fix)=x*+2x—1, find A-3).

( s = T+76-
) b =3
) (-3 a)

Given: f(x):—2+7x and w(x) 2.262 —Tx+3

g (@ f (w(-1)) ®) w[f (w(0))]

F( y-w@) et
-1 n(z)x (@I wED= @)
] - (—3) '=_l/;-‘H-3

= |G £y < _“7(03

= -3( l|) + (_ )
=~ 34 ‘[-

R



f=2-x  hR=NM+5 3@= 9-x"
e ) hi)-TR)+ a(‘f)

Hl):?(«)i-s‘ fR)=2-2 (‘1‘)=3—-('r)1
0 23§92

=n-0#ﬁﬂ



-

LP=3-x KRR=N+5 3(1)= J-Xx
Evaludde: 3 8(3\— h(-NFE + he)

e 3G g
';2-—15‘ :3(@)-(—9)(-0 + ﬂ
L)€
FG)=a-3 1:02- > +19
=]
h(2)=7p)4s
= [?
Ok



Given

Find:

@ /(D)
W)= (=))=7 <0 +3
B IR S

q
f~( \l%: ~2 +7(n)

= -2+ 11

: f(x):—2+7x and w(x)=x2—7x+3 Iq

)

W(o)= 8=+
= 3
F(3) ==2 "‘7(3)
- 17
W()=(; V0913

= a3l

—_



Practice problems...

Pages 270 - 271
#4,5,6,7,8,9,14, 15,17, 18, 19, 20
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